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Q.1 In a counter flow heat double pipe heat exchanger,water is heated from

25°C to 65°C by oil with specific heat of 1.45 kJ/kg K and mass flow rate of 0.9
kg/s. The oil is cooled from 230°C to 160°C. If overall Heat transfer coefficient
is 420 W/m2 °C. Calculate following (i) The rate of heat transfer (ii) The mass
flow rate of water, and (iii) The surface area of heat exchanger (GTU-Dec-2013)
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Q.2 Hot air at 66 °C is cooled up to 38 °C by means of cold air at 15.5 °C. mass
flow rates of hot and cold air are 1.25 kg/s and 1.6 kg/s respectively. Specific
heat of hot and cold air are 1.05 kl/kg k, U= 80 W/m°K, find the area of the
heat exchanger for parallel flow configuration. If the same heat exchanger is
operated in counter flow mode, find the area required.
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Q.3 A steam condenser is transferring 250 KW of thermal energy at a
condensing temperature of 9__5_(1 C. the cooling water enter the condenser at 20°C
with a flow rate of 7500 kg/hr. calculate the log mean temperature difference. If
overall heat transfer co efficient for condenser surface is 1250 w/m2-deg, what

surface area is required to handle this load. (GTU- Dec 2014)
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